QUESTION 2008

GROUP - A
(Multiple Choice Type Questions)

1. Choocse the comect altemnatives for the following:
i} By default, functions are assigned .............. -siorage class.
v @) auto b) extern c) static d) register

#) Maximum number of elements in the declarafion int arr i8][5k s
v a) 40 b} 13 c)3 d) 39
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S2 . efauit retum type of any C funciion s

-d"‘jad\aner value B o s

-3 al a decimal value
; / )an integer v ue d) void ‘

o both global 2nd local variables have the same name, will a lh
, ccess the

iable
,wcal'ia“ v'b) giobal variable
¥ compiiation eror d) none of these
unlDﬂ isa cOﬂerDn of
#a) heterogeneous elements b) Menem:s elements
9 specific elements d) none of these |
) How many times will the loop be executed?
for(i=1;1<=10;14+4)
{
printf (\ Hello" );
i+=3;
) these
a)10 b) 4 )3 dj fione,of
Vi) Which operator is nol a relational operator?
a)< b) > | Yol o <=

viii) Which of the following is not a relational operator?

a) + b) ++ c)* v'd) none of these
 ®)InC, size-ofis
i v'a) an operator b) a function

| c) a macro d) none of these

X) Aray passed as an argument to a function is interpreted as
'a) maximum number of elements that the amay can hold
b) value of the first element of the amay
v'c) address of the first element of the array
d) none of these

~ GROUP-B
(Short Answer Type Questions)

2. Draw a Row-chart of the factorial of a user given number.
See * Topic: INI'RODUC!‘IO’Q Short Answer Type Question No.2
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| &Wﬁleapmgtamtoaddﬂlefoﬂovdngseﬁ&c:

T+ 22+ N+ e +/n!, value of n given by user.
See Topic: MWOmeohlnngAMrﬁmQuésﬁon No. 12

4_wmeﬂmm$onm1ﬁnueandbrmkstatenm$. '
See Topic: FLOW OFCON'I’ROL,lulgAmeQusﬁmNo.ZZ

‘ ,5.Whatisloop?DbmssmrhxstypesofbopmedinC.-

o B s
1" Part: See Topic: FLOW OF CONTROL, Short Answer Type Question No. 4.

8 2.'P‘l'“s“"r"l'i“::FLOWQFCON'I'ROL,L(mgAmmer'I‘_Vp!:Q’IlﬁﬁonNﬂ-:’-

6. What are keywords and Identifiers? What is temary operator?

See Topic: OPERATORS, EXPRESSIONS &
MANAGING INPUT OUTPUT, Short Answer
Question No. 6 & 1. ' o

GROUP-C
~ (Loog Answer Type Questious)
7. a)Mnatdoyoumeanbyalgoriﬂun?
b) Explain the properties of algorithm.

c)l-iowdoesmalgmiﬂmtifl‘erhotnapsel.-do-code?

Ad)D&cignaﬂow-dnnmﬁndwtmemaximqnofnnmbers. :

e) lllustratemmblebyamﬂableexan'ple.
See Topic: MODUCHON,lAugAmuﬁpeQusthu.l

8. a) What do you mean by recursion? '

b) Write a recursive function in C to produce n™ Fibonacti number

c) What are the major drawbacks of using recursion? .

d) What is preprocessor directive?

e) Differentiate between function and macro in C.

See Topic: FUNCTIONS, Short Auswer Type Question No. 10, 1,10, 15, 4.

Q,a)WhyiSrtestilgiFebebopLsed?
b) What do you mean by high level language?

| . ©) What is string. h?

d)_WritedownaO-pmgrambmdunmesmmﬁmioﬂonowhg

= _(|)+(1+2)+(l-'+2+3)+ ..... —+(1+243+44 +n) =

| ) See Topic: mwmmmousnun‘amwmmmmi -

b)mruﬁcmnonumo&&mxmﬁpmml

) See Topic: FUNCTIONS, Short Answer Type Question Ng_ 14 .
Topic: FLOW OF CONTROL, Long Aoswer Type Queces. .«
T e A e Qe g
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INTRODUCTION TO PROGRAMMING

what is the diﬂereﬂce beitween structure and union?

| ) ression?
- )Whﬂt is exp
- gwited program which will merge the content of two files and copy into another blank file.
T ) See Topic: STRUCTURES ANI} UNIONS, Long Answer Type Question No. I{c).

' ")Se, Topic: FUNCTIONS, Short Answer Type Question No. 15.
)Set Topic: OPERATORS, EXPRESSIONS & MANAGING INPUT OUTPUT, Short Answer Type

ion No.. 7.
) See ngfc: FILES. Long Answer Type Question Ne. 2.

et ,
i ,gcusﬁtyamus operaiors used in C. Write a2 program in C io pnm all numbers between 100 |

~ Tand 200, which are divisible by 5 but not divisible by 15.
" e Topic: OPERATORS, EXPRESSIONS & MANAGING INPUT OUTPUT. Long Aaswer Type

Questlon}\o.tl
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